
Level: Upper-Intermediate

Theme: Culture

Lesson 48: British life and culture

Answers

Exercise 1

1. It’s a suspension bridge. T

2. It’s a roadbridge for cars. F 

3. It’s a walkway for pedestrians. T 

4. It’s a traditional structure. F 

5. It’s an original design. T 

6. It’s attractive. T 

7. It’s long. T 

8. It’s strong. T 

9. It’s heavy. F 

10.  It’s dangerous. F 

11.  It cost a lot. T 

12.  It’s still wobbly. F

Exercise 2

1g, 2 l, 3 h, 4 I, 5 n, 6 b, 7 e, 8 f, 9 a, 10 d, 11 j, 12 k, 13 c, 14 m, 15 o

For further practice you may use:

https://learnenglish.britishcouncil.org/en/uk-culture

http://www.esolcourses.com/content/topicsmenu/life-in-the-uk.html

https://www.teachingenglish.org.uk/article/teenagers-uk-culture-0
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